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QUESTION 1

Which three statements about Effective Periods are true? 

A. If effective periods are not defined, Revenue Management uses the General Ledger calendar. 

B. Effective Periods are used for standalone selling prices and for creating journal entries. 

C. Gaps between periods are not allowed 

D. You cannot have overlapping periods. 

E. Effective Periods only define the rage where standalone selling prices of an item should be effective. 

Correct Answer: CDE 

 

QUESTION 2

What is a Standalone Selling Price (SSP)? 

A. the average of your bundled price 

B. the sum of the SSPs of the components 

C. the list price 

D. the price you would use if you sold to a customer separately 

Correct Answer: D 

 

QUESTION 3

After analyzing sales documents for your organization, you conclude that it will be appropriate to group transaction lines
by customer to create contracts In Revenue Management. 

Which predefined Contract Identification Rule can be used in this case? 

A. Identify Customer Contract Based on Party 

B. Identify Customer Contract Based on Source Document Line 

C. Identify Customer Contract Based on Source Document 

D. Identify Customer Contract Based on Source System 

Correct Answer: C 

Reference: https://docs.oracle.com/cloud/farel12/financialscs_gs/FAIRP/FAIRP2288193.htm#FAIRP24 33444 
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QUESTION 4

Which is NOT a Price Band Type? 

A. Amount Band 

B. Set Band 

C. Quantity Band 

D. Percentage Band 

Correct Answer: D 

 

QUESTION 5

How can you access an implementation task in Functional Setup Manager. (choose 3) 

A. By navigating from the Implementation Project 

B. By navigation to an offering\\'s functional area 

C. By navigating from the Welcome Springboard 

D. By searching 

Correct Answer: ABD 
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